BK Opalen

Barometer 2019-10-03

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poéng % Namn MID Klubb
1 10 258.0 59.72  Mari-Ann Stenberg - Ulla Ridderstad 11239 25973 BK Opalen
2 17 255.9 59.25 Liselotte Fondelius - Pedro Svensson 21498 45878 BK Opalen
3 11 252.2 58.38  Lennart Angfors - Therese Lilja 66164 58418 BK Opalen
4 15 247.2 57.22  Hans Lovestig - Mikael Alexandersson 5572 16748 BK Opalen
5 5 231.6 53.62  Kjell Lindstrom - Hans Hedman 11591 12114 Majstangens BK
6 3 230.9 53.45 Monica Almléw-Persson - Louise Ohrwall 62943 30994 BK Opalen
7 20 220.6 51.07 Jan Wass - Christina Bjerklin 13621 15096 BK Opalen
8 2 219.0 50.69  Anna Rydell - Claes Sandblom 39244 49232 Vaxjobridgen - BK Opalen
9 19 210.7 48.77  Per Eklund - Ingrid Haglund 62939 19518 BK Opalen
10 14 210.3 48.67  Monica Johanson - Michael Andersen 10270 94074 BK Opalen
11 9 209.8 48.56  Karin Carlgvist - Jan Fondelius 4435 7219 BK Opalen
12 12 207.2 47.96  Elisabeth Danielsson - Gull-Britt Adolfsson 54710 54702 BK Opalen
13 1 205.1 47.49  Marie-Louise Jarnefur - Hans Johnsson 36604 62944 BK Opalen
14 8 203.2 47.03  Lisbeth Quisth - Christer Assarsson 87306 88557 BK Opalen
15 16 201.5 46.63  Henrik Haraldsson - Anders Milton 12568 10735 Tranas BK - BK Opalen
16 4 197.6 45.73  Inge Nilsson - Karin Nilsson 18198 19523 BK Opalen
17 7 195.7 45.29  Anette Svenningsson - Bilal Zafar 10269 59699 BK Opalen
18 13 192.8 44.63  Leif Lysebring - Lars Wallmark 10391 6908 BK Opalen
19 6 189.6 43.89  Yvonne Adolfsson - Bjérn Ekblom 19517 32366 BK Opalen
20 18 181.3 41.97 Vega Slottner - Bengt Sérensen 86942 86943 BK Opalen
1 D8 Basta kontrakt 2 4 K972 Basta kontrakt 3 463 Basta kontrakt
Nord v 62 3NT S =400 Ost v EKn10 6NT S = 1440 Syd v EKn3 54 S D -3-500
Ingen + D875 NS +E8 ov + Kn875
#D9843 & ¢ v & NT #E983 & ¢ v & NT #K1083 & ¢ v & NT
4 KKn1076 4543 N8 8 6 6 8 a5 «D4 N9 7 101212 4Kn974 D108 N8 4443
v974 v K10853 S 89669 v D652 v973 S 9 7 101212 vK986 vD105 S84 443
¢ E1092 ¢+ Kn O4 46054 ¢+ D74 ¢KKn10952 O 4 6 2 1 1 ¢ E42 + KD1063 059799
*2 *#KKn76 V44553 #Kn10752 &D4 Vaiae6211 +D4 #EKn V5972910
4 E92 # EKn10863 & EK52
v EDKn v K84 v 742
+ K643 463 +9
#E105 *K6 #97652
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
15 6 3NS+1 v9 430 180 00(15 6 44 S+3 &J 710 180 00|14 9 3NO-2 aA 200 18.0 0.0
19 2 24DV-2 ¢5 300 16.0 20| 4 17 44 S+2 &2 680 100 80|10 13 3NO-1 &5 100 150 3.0
13 8 INS+2 a7 150 140 40| 9 12 44 S+2 ¢4 680 100 80|15 8 3¢ O-1 &A 100 150 3.0
9 12 18 S+2 o7 110 120 6.0(13 8 44 S+2 #J 680 100 80| 1 3 INO= a A 90 110 7.0
3 18 INS= a7 90 100 80|14 7 44 S+2 & 680 100 80|17 6 INO= *6 90 110 7.0
16 5 2v0-1 3 50 8.0 100(16 5 44 S+2 ¢Q 680 100 80| 4 19 INN-3 +3 -150 5.0 13.0
4 17 3NS-1 v7 -50 40 140(19 2 44 S+2 ¢4 680 100 80| 5 18 INO+2 aA -150 5.0 13.0
11 10 3NS-1 a5 -50 40 140(20 1 44 S+2 &5 680 100 80|16 7 2NV +1 3 -150 5.0 13.0
14 7 3NS-1 ] -50 40 140| 3 18 44 S+1 #J 650 20 16.0|20 2 INO+2 A -150 5.0 13.0
20 1 3NS-2 46 -100 0.0 18011 10 2NN+4 9 240 0.0 18012 11 3NO= a A -600 0.0 18.0
4 & E7542 Bésta kontrakt 5  Kn98 Bésta kontrakt 6 4 D76 Bésta kontrakt
Vast v KKn9 2NTV =-120 Nord v EKKn5 ANT O =-430 Ost v5 5NT O =-660
Alla + Kn95 NS 4109854 ov 410653
»43 & ¢ v & NT +Kn & ¢ v & NT #109432 & ¢ v & NT
4 Kn1063 & KD8 N58545 4 EKD532 464 N38523 4 Kn9g84 4E3 N7 2162
v D65 v 87432 S 58545 v 10 v D9864 S38523 v Kn2 vEKD7643 S 7 2 1 6 2
+D ¢ EK3 0758838 ¢ K32 ¢D O 105 7 1010 ¢ EKKn872 ¢4 O 5 10117 11
#ED762 #Kn8 V7582838 #K43 #ED985 V 105 7 1010 *7 *K86 V 4 10117 9
49 « 107 & K1052
vE10 v732 v 1098
¢ 1087642 ¢ EKn76 + D9
#K1095 #10762 #EDKnN5
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
5 18 3NO-2 +6 200 160 20| 5 1 24V+2 & -170 170 10|13 12 3v O+1 38 -170  18.0 0.0
15 8 3v 0-2 49 200 16.0 20(20 3 34 V+1l #J -170 170 10| 5 1 4v 0= +Q -620 16.0 2.0
16 7 4v O-2 49 200 16.0 20| 2 4 24 V+4 &) -230 140 4.0|15 10 4v O+1 T -650 110 7.0
10 13 3NO-1 +6 100 90 9.0| 6 19 4e V= *] -420 90 9.0|16 9 4v O+l &2 -650 11.0 7.0
14 9 3vO-1 49 100 9.0 9.0|11 14 4a V= vA -420 90 9.0|17 8 4v O+l ¢Q -650 11.0 7.0
17 6 3NV-1 a2 100 90 9.0|13 12 44 V= vK -420 90 9.0|20 3 4v O+1 &2 -650 110 7.0
20 2 3NO-1 *T 100 9.0 9.0|15 10 44 V= *] -420 90 90| 2 4 4vy O+2 &2 -680 5.0 13.0
1 3 Pass 40 14017 8 44 V+1l K -450 3.0 150|11 14 4vy O+2 #A -680 5.0 13.0
4 19 2NO= *7 -120 20 16.0|18 7 44 V+1l ©vA -450 3.0 150 6 19 6v O= *A -1430 1.0 17.0
12 11 1a V+4 &3 -200 0.0 18016 9 3NV+2 9 -460 0.0 18018 7 6vy O= *A -1430 1.0 17.0
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7 » EK105 Basta kontrakt 8 4 D42 Basta kontrakt 9 4 Kn8 Basta kontrakt
Syd v 1064 6NT S = 1440 Vast v EK10943 5¢ N =450 Nord v KD5 2v V =-110
Alla + E6 Ingen + 976 ov + EKn932
#EKN107 & ¢ v & NT D & ¢ v & NT #EKn6 & ¢ v & NT
46 a74 N8 6 9 1212 « 107 & KKn653 N 116 117 9 + K10 4 E7642 N6 656 6
vD v KKn983 S 86 9 1212 vKn765 v8 S 116 116 9 v1082  vEKn93 S6 6566
+D97543 ¢ Knl08 026411 ¢+ KD52 ¢ EKn103 O07050 ¢+ K105 #3864 O6 6 776
#D9542 #863 V261411 #3864 #532 VO7050 #KD942 &3 V761877
4 DKn9832 ~ E98 « D953
vE752 vD2 v 764
* K2 + 84 + D7
&K #EKKn1097 #10875
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 2 64 S= vQ 1430 170 10|16 11 4vy N+2 43 480 18.0 0.0|17 12 INN+2 42 150 170 1.0
14 13 64 S= vQ 1430 170 10| 6 2 4vy N+1 43 450 140 4020 5 INN+2 #4 150 170 1.0
7 1 44 S+2 3 680 11.0 7.0[14 13 4v N+1 &2 450 140 40|13 16 INN+1 #4 120 120 6.0
12 15 44 S+2 vQ 680 11.0 7020 4 4vy N+1 &5 450 140 40|15 14 INN+1 #4 120 120 6.0
18 9 44 S+2 vQ 680 11.0 7.0(17 10 4y N= ¢ A 420 10.0 8.0(18 11 INN+1 2 120 120 6.0
20 4 44 S+2 vQ 680 11.0 7.0[12 15 3v N+1 &2 170 80 100 1 9 24 O-1 &8 100 8.0 10.0
3 5 44S+1 vQ 650 3.0 150 3 5 4vy N-1 *3 -50 40 140 4 6 INN-1 a4 -50 4.0 14.0
16 11 54 S= vQ 650 30 150 7 1 5¢N-1 ¢ A -50 40 140 7 3 INN-1 v3 -50 4.0 140
17 10 44 S+1 3 650 30 150(19 8 4v N-1 *5 -50 40 140 8 2 INN-1 a2 -50 40 140
19 8 44 N+1 vQ 650 3.0 150(18 9 4v N-2 +3 -100 0.0 180(19 10 2¢v V+1 ¢2 -140 0.0 18.0
10 a5 Bésta kontrakt 11 a5 Bésta kontrakt 12 4 D1096 Bésta kontrakt
Ost vE64 24 S =110 Syd vD1042 3v S =140 Vast v KKn2 4¢ V =-130
Alla + K8642 Ingen + KD83 NS ¢ EKn
#Kn753 & ¢ v & NT #EKn98 & ¢ v & NT #D1073 & ¢ v & NT
41042 & KKn7 N7 7 6 86 4 DKn102 4974 N 107 9 8 8 4853 & EK74 N7 36565
vKD972 ¢1053 S7 76 86 v K65 vE73 S 107 9 8 8 v53 v D876 S736565
+Knl0 ¢ E975 055756 ¢+ Kn754 ¢ E1092 036 455 ¢+ D109543 ¢ K6 O6 107 7 8
D102 &K96 V45756 &D7 #1063 V36455 *E2 #KKn5 V 6 106 7 8
» ED9863 & EK863 & Kn2
vKn8 v Kn98 vE1094
+D3 +6 ¢ 872
*E84 #K542 #9864
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 16 2NO-2 46 200 180 00| 2 10 3NN= +3 400 150 30(20 6 3NO-2 v4 100 18.0 0.0
1 9 24S+1 4 140 13.0 50| 5 7 3NN= +9 400 150 30| 8 4 34 0-1 &9 50 16.0 2.0
4 6 24 S+1 vK 140 13.0 50 9 3 3NN= 2 400 150 30| 1 11 3¢ V= »3 -110 14.0 4.0
7 3 24S+1 ¢ 140 13.0 50(20 6 3NN= 2 400 150 3.0(16 15 3¢ V+1 46 -130 11.0 7.0
15 14 24 S+1  v7 140 13.0 50|14 17 3« N+1 3 130 100 80|18 13 3¢ O+1 &9 -130 11.0 7.0
17 12 24 S= v2 110 6.0 120| 1 11 24 N+1 2 110 80 100 5 7 3¢ V+2 49 -150 8.0 10.0
18 11 24 S= vK 110 6.0 120 8 4 3NN-1 +9 -50 6.0 12.0| 2 10 INO+3 %6 -180 5.0 13.0
19 10 24 S= +*J 110 6.0 12.0|18 13 3NN-2 2 -100 3.0 150(19 12 INO+3 49 -180 5.0 13.0
8 2 24S-1 ¢*J -100 1.0 17.0|19 12 3NN-2 +9 -100 3.0 150 9 3 14 N-2 ¢+6 -200 2.0 16.0
20 5 24 S-1 +J -100 10 17.0|16 15 3NS-3 +5 -150 0.0 18.0(14 17 3NO+1 &7 -430 0.0 18.0
13 495 Basta kontrakt 14 aD4 Basta kontrakt 15 4K Basta kontrakt
Nord v EK1093 4v N =620 Ost v K1098 5v S =450 Syd v EK76542 44 V D -2 300
Alla + KD75 Ingen + EKn1063 NS + K63
«Kn4 & ¢ v & NT #D3 & ¢ v & NT 98 & ¢ v & NT
a7 «EDKn862 N 9 7 107 9 « EKn10973 4652 N 118 116 7 4D1082 4Kn943 N 9 4 105 6
v Kn82 v74 S 97 107 9 vE5 v 62 S 118 116 7 vKnl1093 v- S 9 4 105 6
¢ Kn10932 +E84 046 353 + D2 ¢ K9875 02526 3 + D109 ¢EKn8754 0O 4 8 2 8 7
#D975 *62 V46353 #Kn106 #942 V25263 *K2 #D65 V48287
& K1043 4 K8 4 E765
v D65 v DKn743 vD8
+6 *4 2
#EK1083 #EK875 #EKN10743
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
15 18 24DO-3 +6 800 180 00| 2 12 4v S+1 &A 450 100 80| 4 12 4vy N+1 +A 650 150 3.0
19 14 4y N= ¢ A 620 150 3.0| 3 11 4vy S+1 &A 450 1000 80| 7 9 4vy N+1 +A 650 150 3.0
20 7 4vy N= *6 620 150 30| 6 8 4vS+1 +¢Q 450 100 8.0(16 19 4y N+1 +¢A 650 150 3.0
1 13 3NS= ¢*J 600 11.0 70| 9 5 4v S+l &A 450 10.0 8.0(18 17 4v N+1 +A 650 150 3.0
10 4 3NS= a7 600 11.0 7.0(10 4 4vy S+1 &A 450 100 80(10 6 4y N= ¢ A 620 10.0 8.0
3 11 34 0-3 vQ 300 8.0 10.0(15 18 4v S+1 &A 450 100 80| 3 13 44 0-1 vQ 50 7.0 11.0
2 12 3vy N+1 &A 170 6.0 12.0(17 16 4vy S+l +Q 450 1000 80(11 5 5¢ O0-1 #A 50 7.0 11.0
9 5 4vy N-1 v7 -100 3.0 150(19 14 4y S+1 &A 450 100 80| 1 15 4vy N-1 a4 -100 3.0 15.0
17 16 4v N-1 v4 -100 3.0 150(20 7 4vy S+1 &J 450 100 80|20 8 5v N-1 *A -100 3.0 15.0
6 8 4v N-2 *6 -200 0.0 180 1 13 44 V-2 v8 100 0.0 180( 2 14 4¢DO= ¥Q -510 0.0 18.0
16 4 Kn106 Bésta kontrakt 17 « E107 Bésta kontrakt 18 «ED Bésta kontrakt
Vast v E10854 3v ND-1-100 Nord v 87532 3¢ O =-110 Ost v D85432 24 OD-1100
ov + K53 Ingen + K4 NS + 84
+D2 & ¢ v & NT #Kn82 & ¢ v & NT #D93 & ¢ v & NT
4987532 «4 N4 6 866 4Kn985 & D64 N8 4755 4 Knl1064 K97 N6 6 865
vKn2 vKD6 S 46866 vKn64 vED9 S846565 v K6 vKn1097 S 66 865
¢ E2 + DKn106 096 567 ¢ DKn10 ¢ E9873 059677 ¢ 10753 ¢ DKn9 06 7577
#643 #EKN1085 V 9 6 5 6 7 *K73 «109 V49677 #EKn6 #K85 V67577
« EKD K32 #8532
v 973 v K10 vE
49874 4652 + EK62
*K97 #ED654 #10742
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
10 6 2NO-3 v9 300 180 00| 2 16 24DS= ¢ 180 180 00(17 1 2v N= &5 110 170 1.0
4 12 2y N= A 110 160 2020 9 2v N+1 ¢7 140 16.0 20(19 18 2v N= a7 110 170 1.0
2 14 24 V-1 +3 100 140 40(11 7 2v N= &T 110 13.0 50| 2 16 Pass 10.0 8.0
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7 9 3vyN-1 ¢+ Q 50 11.0 7.0(17 1 3#S-= *T 110 13.0 50| 3 15 Pass 10.0 8.0
20 8 3vy N-1 +4 -50 11.0 70| 8 10 34 V-2 »2 100 100 80| 4 14 Pass 10.0 8.0
16 19 3v N-2 #4 -100 8.0 10012 6 INO= *4 -90 8.0 10.0| 8 10 Pass 10.0 8.0
11 5 2NO= &5 -120 6.0 120| 3 15 34 S- ¢+ Q -100 6.0 12.0|11 7 Pass 10.0 8.0

3 13 24 0+2 &K -130 40 140 4 14 34 O= +6 -110 20 16.0| 5 13 2¢vy N-1 +Q -100 2.0 16.0

115 24 V+1 3 -140 10 17.0| 5 13 2¢ O+1 +6 -110 20 16.0|12 6 2v N-1 +Q -100 2.0 16.0
18 17 34 V= +3 -140 10 17.0|19 18 3¢ O= A -110 20 16.0(20 9 2y N-1 ¢ Q -100 2.0 16.0
19 &D Bésta kontrakt 20 49 Bésta kontrakt 21 46 Bésta kontrakt
Syd v KD8732 4v SD-1-100 Vast v KKn9862 6v N D -2 -500 Nord v KDKn 44 N =130
oV ¢+ ED10 Alla + 10984 NS + E1094

*D72 & ¢ v & NT *K7 & ¢ v & NT #Kn9765 & ¢ v & NT
«E9832 4 KKn54 N469 34 4 EK752 & DKn863 N8 2 102 3 49532 & EKD74 N 108 6 5 6
vE5 v 104 S46 934 v4 vD5 S 8 2 102 3 v872 v10654 S 108 6 5 6
* K7 49832 097 498 ¢+ DKn76 ¢ EK52 O 5 103 117 48532 ¢ D7 O3 4686
#EK103 #984 V964938 #ED5 #94 vV 5 103 117 *E8 +K10 V34686

41076 104 4 Knl108

v Kn96 vE1073 vE93

+ Kn654 +3 ¢ KKn6

#Kn65 #Kn108632 #D432

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

6 14 3v N= & K 140 170 10| 1 19 64 V-1 v2 100 180 0.0 7 15 44DO-2 &J 300 18.0 0.0
20 10 3v N= a4 140 170 10| 3 17 44 V+1l 8 -650 9.0 90| 2 1 3&aN+1 &A 130 13.0 5.0

4 16 44 V-1 vK 100 120 6.0 4 16 54 V= *T -650 9.0 9.0|10 12 24 N+2 &A 130 13.0 5.0

5 15 4e V-1 vK 100 120 6.0 5 15 4a V+1l T -650 90 90|14 8 3#S+1 49 130 13.0 5.0

9 11 4e V-1 vK 100 120 6.0| 6 14 44 V+1 vK -650 90 9.0|19 3 2&4N+2 &A 130 13.0 5.0
12 8 5v N-3 &K -150 8.0 100| 9 11 44 V+1l v6 -650 90 90| 6 16 34 O-1 +K 50 8.0 10.0
18 2 5vDN-2 4 -300 6.0 12.0|12 8 54 V= v] -650 9.0 9.0| 4 18 44 N-1 4A -100 5.0 13.0

1 19 4e V= »2 -620 30 150(18 2 4e V+1l T -650 90 90|13 9 INS-1 a9 -100 5.0 13.0
13 7 44 V= vK -620 3.0 150(20 10 44 V+1 T -650 9.0 90| 5 17 24 O= *2 -110 2.0 16.0

3 17 44 V+1  +A -650 0.0 18013 7 7vyDN-3 +A -800 0.0 18.0(20 11 4¢ N-2 aA -200 0.0 18.0
22 4105 Basta kontrakt 23 4108 Basta kontrakt 24 4 Kn3 Basta kontrakt
Ost v DKn1063 INT O =-90 Syd v3 5v V =-650 Vast v E63 4v V D -1 100
oV 4965 Alla + KD82 Ingen +64

#E53 & ¢ v & NT #KKn7642 & ¢ v & NT #KD9542 & ¢ v & NT
4974 « KD82 N7 6 756 494 # KDKn2 N9 9 2765 52 «KD10864 N 105 4 4 9
v 87542 vE9 S76 756 vKn85 vED109762 S 9 9 2 7 5 v D87 v K10954 S 105 4 4 9
+3 ¢EKKn102 O 6 6 6 7 7 ¢ E6G43  ¢5 04 4 116 7 ¢ K987532 ¢ 10 0289 83
#K1042 %86 V66677 #10853 &E V 3 4 116 7 »3 #Kn V28983

4 EKn63 4 E7653 & E97

vK vK4 v Kn2

+ D874 + Kn1097 ¢ EDKn

#DKn97 «D9 #E10876

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

4 18 2¢ O-2 vK 200 16.0 20| 3 2 3vO0+2 aA -200 15.0 3.0|15 9 3NS+2 7 460 18.0 0.0

5 17 3¢DO-1 ¢K 200 16.0 20| 5 19 44 N-2 &K -200 150 3.0| 3 2 5&4S= a5 400 150 3.0

6 16 34 V-2 vQ 200 16.0 20|11 13 1v V+4 #Q -200 150 3.0| 5 19 54S= a5 400 150 3.0
14 8 2vS= +3 110 120 6.0(20 12 3vy O+2 #Q -200 15.0 3.0| 7 17 54D0O-2 &A 300 11.0 7.0

2 1 1s4S-1 2 -50 90 90| 1 4 4v O+l &A -650 6.0 12.0(20 12 44DO-2 ¥J 300 11.0 7.0
19 3 2NS-1 49 -50 90 9.0| 6 18 4v O+1 ¢J -650 6.0 12.0| 6 18 44DO-1 +A 100 8.0 10.0
10 12 1¢ O= vK -70 6.0 120 8 16 4vy O+1 ¢J -650 6.0 120 8 16 54 N-1 4Q -50 6.0 12.0

7 15 14 S-2 +3 -100 3.0 15014 10 4v O+1 3 -650 6.0 12.0|14 10 64 S-2 a5 -100 4.0 14.0
13 9 2NS-2 49 -100 3.0 150(15 9 4v O+1 #Q -650 6.0 120| 1 4 24 0= *A -110 2.0 16.0
20 11 3NS-3 *2 -150 0.0 180( 7 17 5vDO= £Q -850 0.0 180(11 13 34 O= v] -140 0.0 18.0
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